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تمارين 3-3
	‌ت )س( = )0 × 0.1( + )1 × 0.12( + )2 × 0.36( + )3 × 0.42(  	)1

1.26 + 0.72 + 0.12 + 0 =
2.1 =

	‌ع2)س( = )20 × 0.1( + )21 × 0.12( + )22 × 0.36( + )23 × 0.42( - 22.1   	
4.41 - 3.78 + 1.44 + 0.12 + 0 =

0.93 =
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	‌0.03 + 2ل + 0.32 + ل + 0.05 = 1  	)2

3 ل + 0.4 = 1

 0.4 - 1
3 ل = 

0.2 =
ت )ص( = )0 × 0.03( + )1 × 0.4( + )2 × 0.32( + )3 × 0.2( + )4 × 0.05( 	 	

1.84 =
	�‌ع2)ص( = )20 × 0.03( + )21 × 0.4( + )22 × 0.32( + )23 × 0.2( + )24 × 0.05( - 21.84 = 4.28 - 3.3856 = 0.8944  	

0.946 = 0.8944 ع )ص( =  	 	

	 ‌لكل قيم )ز( الاحتمال نفسه وهو 0.25  	)3
ت )ز( = )1 × 0.25( + )3 × 0.25( + )6 × 0.25( + )10 × 0.25(  		

0.25 × )10 + 6 + 3 + 1( =
0.25 × 20 =

5 =
	 ‌ع2)ز( = )21 + 23 + 26 + 210( × 0.25 - 25  	

25 - 0.25 × 146 =

11.5 =
	 )1 × 0.4( + )3 × 0.28( + )6 × 0.14( + 0.18 م = 5.38  	)4

2.5 + 0.18 م = 5.38

16 = 2.5 - 5.38
0.18 م = 

	 ‌ع2)ص( = )21 × 0.4( + )23 × 0.28( + )26 × 0.14( + )216 × 0.18( - 25.38  	
 28.9444 - 60.34 =

31.3956 =
	 ‌)2 × 0.3( + )7 × 0.3( + 0.1 ب + )24 × 0.3( = ب  	)5

0.1 ب + 9.9 = ب

0.9 ب = 9.9
ب = 11

	 ‌ع2)غ( = )22 × 0.3( + )27 × 0.3( + )211 × 0.1( + )224 × 0.3( - 211  	
121 - 200.8 =

79.8 =
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 100200 × 100 + 70
200 × 70 + 20

200 × 20 + 10
ت )ر( = 10 × 200 	 	)6

50 + 24.5 + 2 + 0.5 =
77 =

277 - 100200 × 2100 + 70
200 × 270 + 20

200 × 220 + 10
‌ع2)ر( = 210 × 200 	 	

5929 - 5000 + 1715 + 40 + 5 =
831 =

	‌ت )الأرباح( = )-10000 × 0.24( + )0 × 0.33( + )10000 × 0.28( +)20000 × 0.11( + )30000 × 0.04( = 3800 ريال عُماني.  	)7
	‌ع2)الأرباح( = ])-10000(2 × 0.24[ + )20 × 0.33( + )210000 × 0.28( +)220000 × 0.11( + )230000 × 0.04( - 23800  	

 14440000 - 132000000 =
= ‌117560000 ريال عُماني
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	 �من مخطط الأحتمال نلاحظ أن المجموع )٧( ، )٩( ظهر مرتين لكل منهما
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1( ل )8( × 1000 = 16 	 	

 187.5 = 1000 × 3
16 = 1000 × ) 2

16 + 1
2( ]ل )11( + ل )12([ × 1000 = )16 	

	    العدد المتوقع هو 187 أو 188 
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